Notes on Chapter 14 

This worksheet uses the TVM Solver key on the TI-84, TI-83 Plus or TI-83. To locate this key do the following:

To locate this key do the following:
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Press the [image: image3.wmf]APPS

 button. 

The APPLICATIONS screen will appear.

[image: image4.png]nance.
G1CHS
G1PRT1
AreaForm
CBL-CER
C:
!

S

tCShectle
LCSheetEs

=
3
>
]
7.







Press 1: Finance

The screen should appear as follows:

[image: image5.emf]
Press 1: TVM Solver.

The screen should now look like:
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OR

For the TI-83: Press 2nd Finance, #1 TVM Solver. 

N is the total number of periods in the loan. For example: For 12 monthly payments for 5 years, N = 60. For 12 monthly payments for 2 years, N = 24.

I% is the interest rate. DO NOT CHANGE THE PERCENT TO A DECIMAL.

PV is the Present Value of the loan. This amount will be the beginning value of the loan. Be sure to subtract the down payment from the purchase price amount to get the value of the loan. 

PMT is the payment amount. Enter this as a negative value 

FV is the Future Value of the loan. This is the ending value of the loan.

P/Y is the number of periods in a year.

C/Y is the number of compounding in a year. (In general, these will be the same).

Since a payment is made every month, P/Y and C/Y will both have a value of 12 for chapter 14 problems.

FV will be zero, since the ending value of the loan will be zero.

FORMULAS:

Amount financed = Purchase Price – Down payment

(The amount financed will be entered as the PV of the loan)

Total of monthly payments = # of monthly payments * Amount monthly payment

Total finance charge = Total of monthly payments – Amount financed

Deferred payment price = total of all monthly payments + down payment

Example 1:  Haynes Miller purchased a Ford Mustang for $27,350. He paid $7,350 down. He financed the remaining amount for 60 months. His monthly payment was $405.53.

a. What was the amount financed?

b. What was the total of monthly payments?

c. What was the total finance charge?

d. What was the deferred payment price?

Answers:

a.
Amount financed = Purchase Price – Down payment

Amount financed = $27,350 – $7,350

Amount financed = $20,000

b.
Total of monthly payments = # of monthly payments * Amount monthly payment

Total of monthly payments = 60 * $405.53

Total of monthly payments = $24,331.80

c.
Total finance charge = Total of monthly payments – Amount financed

Total finance charge = $24,331.80 – $20,000

Total finance charge = $4,331.80

d.
Deferred payment price = total of all monthly payments + down payment
Deferred payment price = $24,331.80 + $7,350

Deferred payment price = $31,681.80

Example 2:  Joanne Roberts purchased a used Dodge Stratus for $12,220. She paid $2,220 down. She financed the remaining amount for 36 months. Her monthly payment was $320.33.

a. What was the amount financed?

b. What was the total of monthly payments?

c. What was the total finance charge?

d. What was the deferred payment price?

Answers:

a.
Amount financed = Purchase Price – Down payment

Amount financed = $12,220 – $2,220.00

Amount financed = $10,000

b.
Total of monthly payments = # of monthly payments * Amount monthly payment

Total of monthly payments = 36 * $320.33

Total of monthly payments = $11,531.88

c.
Total finance charge = Total of monthly payments – Amount financed
Total finance charge = $11,531.88 – $10,000

Total finance charge = $1,531.88

d.
Deferred payment price = total of all monthly payments + down payment

Deferred payment price = $11,531.88 + $2,220.00

Deferred payment price = $13,751.88

Example 3: Maria Juarez purchased a television for $1,200, at 8% interest for 2 years. What is the monthly payment? What is the amount of the interest (or total finance charges)?
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 button. 

The APPLICATIONS screen will appear.


Press 1: Finance








The screen should appear as follows:

[image: image8.png]nance.
G1CHS
G1PRT1
AreaForm
CBL-CER
C:
!

S

tCShectle
LCSheetEs

=
3
>
]
7.








[image: image9.emf]
Press 1: TVM Solver.

The screen should now look like:
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The correct values are:

N= 24


(2 years * 12 payments each year)

I%= 8

PV= 1200

(Amount financed)

PMT = 0

FV= 0 


(When the loan is paid off, the balance will be zero.)

P/Y = 12 

(Payment is made every month or 12 times per year)

C/Y= 12

Since the monthly payment is the unknown, use the arrow keys to place the cursor beside PMT. Now Press: ALPHA, SOLVE (the solve key is the same as the ENTER key.) 

The calculator should now show:

[image: image11.emf]
Maria will have monthly payment of $54.27. Notice the calculator gave a negative value for the answer. The calculator gives a negative value because Maria is making this as a payment. 

Now find the interest amount (or finance charges).

First: Find the total of all payments made.

Total of monthly payments = # of monthly payments * Amount monthly payment

Total of monthly payments = 24 * $54.28

Total of monthly payments = $1,302.48

Second: Find the finance charge.

Total finance charge = Total of monthly payments – Amount financed

Total finance charge =  $1,302.48– $1,200.00

Total finance charge = $102.48

Example 4: Sheryl Nelson purchased at $5,000 go-kart at 9.5% interest for 3 years. What is the monthly payment? What is the amount of the interest (or total finance charges)?
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 button. 

The APPLICATIONS screen will appear.


Press 1: Finance








The screen should appear as follows:
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Press 1: TVM Solver.

The screen should now look like:
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The correct values are:

N= 36


(3 years * 12 payments per year)

I%= 9.5

PV= 5000

(Amount financed, no down payment made)

PMT = 0

FV= 0


(The loan balance at the end)

P/Y = 12

(Payment is made every month or 12 times per year)

C/Y= 12

Since the payment is the unknown, use the arrow keys to place the cursor on that value. Now Press: ALPHA, SOLVE (the solve key is the same as the ENTER key.) 

The calculator should now show:

[image: image16.emf]
Sheryl needs to make a payment of $160.16 per month for 36 months.

Notice: the calculator gave the payment as a negative value, but the answer is a positive value.

Now find the interest amount (or finance charges).

First: Find the total of all payments made.

Total of monthly payments = # of monthly payments * Amount monthly payment

Total of monthly payments = 36 * $160.16

Total of monthly payments = $5,765.76

Second: Find the finance charge.

Total finance charge = Total of monthly payments – Amount financed

Total finance charge =  $5,765.76 – 5000.00

Total finance charge = $765.76

Practice:
1.
Scott Martin borrowed $6,200.00 to travel to Europe. He plans to finance the loan for 36 months at 7.25%. What will Scott’s monthly payment be?

2.
Stanley Sims plans to purchase a used car for $9,300.00. He wants to put $1,100.00 down and will finance the remaining balance for 48 months at 6.5%.

a.)
What amount did Stanley finance?

b.)
What will Stanley’s monthly payment be?

c.)
What is the total of all the payments?

d.)
What is his total finance charge?

3.
Vanna Goad plans to purchase a 4-door sedan at a purchase price of $31,000.00. She wants to put a down payment of $4,000.00. Vanna will finance the remaining balance for 60 months at 8.2%.

a.)
What amount did Vanna finance?

b.)
What will Vanna’s monthly payment be?

c.)
What is the total of all the payments?

d.)
What is his total finance charge?

4.
David Keller plans to purchase a bass boat for a purchase price of $5,995.00. He plans to finance the entire amount for [image: image17.wmf]1

3
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 years. If his payments are $160.06, what is his interest rate (rounded to the nearest hundredth of a percent)?

5.
Dan Seals plans to purchase a motorcycle for a purchase price of $11,300.00. He plans to pay 10% of the purchase price as a down payment. He will finance the remaining balance at 9.36% for 36 months.

a.)
What amount did Dan finance?

b.)
What will Dan’s monthly payment be?

c.)
What is the total of all the payments?

d.)
What is his total finance charge?

6.
Robin Brakebill plans to purchase a jet ski for a purchase price of $5,300.00. She plans to put $1,300.00 down and finance the remaining balance for 36 payments. If her payment is $127.76, what is the rate she is paying on the loan (rounded to the nearest hundredth of a percent)?
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